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¦ÉÉMÉ 1

1.  (+) +xÉÖ¤ÉÆvÉ (EòÉìx]ÅìõC]õ) CªÉÉ ½þÉäiÉÉ ½èþ ?

EòÉªÉÇ +Énäù¶É EòÒ |ÉÉ{iÉÒ Eäò ¤ÉÉnù ¨ÉÉ±É ´É ¨ÉVÉnÚù®úÒ EòÒ ÊEò¨ÉiÉÉä ¨Éå ´ÉÞÊrù Eäò EòÉ®úhÉ

¤ÉføÒ ½Öþ+Ò ±ÉÉMÉiÉ EòÒ näùJÉ¦ÉÉ±É Eò®úxÉä Eäò Ê±ÉB `äöEäònùÉ®ú EòÉä ÊEòB VÉÉxÉä́ ÉÉ±Éä ¦ÉÖMÉiÉÉxÉ

Eäò Ê±ÉB +xÉÖ¤ÉÆvÉ nùºiÉÉ´ÉäVÉÉå̈ Éå CªÉÉ |ÉÉ´ÉvÉÉxÉ ÊEòB VÉÉiÉä ½èþ ?

(¤É) {ÉÉ<Ç{É |É´ÉÉ½þ ¨Éå ½þÉäxÉä́ ÉÉ±Éä ‘ ½äþb÷±ÉÉìºÉ ’ Eäò EòÉ®úhÉ ¤ÉiÉÉB *

=xÉ¨Éå ºÉä |ÉiªÉäEò EòÉ®úhÉ ºÉä ½þÉäxÉä́ ÉÉ±Éä ½äþb÷±ÉÉìºÉ EòÒ MÉhÉxÉÉ Eò®úxÉä Eäò Ê±ÉB <ºiÉä̈ ÉÉ±É

Eò®úxÉä´ÉÉ±Éä ºÉÚjÉ Ê±ÉJÉä *

+É®ú.¤ÉÒ.+É<Ç.BºÉ.¤ÉÒ. (|É¤ÉÆvÉEò - ÊºÉÊ´É±É) P.Y. - 2014

R.B.I.S.B. (MANAGER - CIVIL) P.Y. - 2014

|É¶xÉ{ÉjÉ II - (´ÉhÉÇxÉÉi¨ÉEò |ÉEòÉ®ú) / PAPER II - (DESCRIPTIVE TYPE)

(+ÊvÉEòiÉ¨É +ÆEòú - 100) (+´ÉÊvÉ --- 3 PÉÆ]äõ)

(Maximum Marks - 100) (Duration - 3 Hours)

Con 1801---1

+xÉÖnäù¶É.-----(1) ¦ÉÉMÉ 1 ºÉä EòÉä<Ç nùÉä |É¶xÉÉå, ¦ÉÉMÉ 2 ºÉä EòÉä<Ç nùÉä |É¶xÉÉå +Éè®ú ¦ÉÉMÉ 3 ºÉä ÊEòºÉÒ
BEò |É¶xÉ EòÉ =kÉ®ú Ê±ÉJÉxÉÉ ½èþ*

(2) ºÉ¦ÉÒ |É¶xÉÉå Eäò Ê±ÉB ºÉ¨ÉÉxÉ +ÆEò ½èþ*

(3) =kÉ®ú Ë½þnùÒ +lÉ´ÉÉ +ÆOÉäVÉÒ ¨Éå Ê±ÉJÉå VÉÉBÆ * iÉlÉÉÊ{É, ºÉ¦ÉÒ |É¶xÉÉå Eäò =kÉ®ú Eäò´É±É
BEò ½þÒ ¦ÉÉ¹ÉÉ ¨Éå ÊnùB VÉÉÆBð* +Æ¶ÉiÉ: +ÆOÉäVÉÒ iÉlÉÉ +Æ¶ÉiÉ: Ë½þnùÒ ¨Éå Ê±ÉJÉÒ MÉ<Ç
=kÉ®ú {ÉÖÎºiÉEòÉ+ÉÆä EòÉ ¨ÉÚ±ªÉÉÆEòxÉ xÉ½þÓ ÊEòªÉÉ VÉÉBMÉÉ*

(4) |ÉiªÉäEò |É¶xÉ EòÉ =kÉ®ú xÉB {ÉÞ¹`ö {É®ú ÊnùªÉÉ VÉÉxÉÉ SÉÉÊ½þB iÉlÉÉ |É¶xÉ EòÒ ºÉÆJªÉÉ
¶ÉÒ¹ÉÇ {É®ú ¤ÉÉ<È +Éä®ú Eäò ½þÉÊ¶ÉBú ¨Éå Ê±ÉJÉÒ VÉÉxÉÒ SÉÉÊ½þB*

(5) BEò ½þÒ |É¶xÉ Eäò ºÉ¦ÉÒ ¦ÉÉMÉÉå Eäò =kÉ®ú BEò ºÉÉlÉ Ê±ÉJÉå* nÚùºÉ®äú ¶É¤nùÉå ¨Éå
BEò ½þÒ |É¶xÉ Eäò Ê´ÉÊ¦ÉzÉ ¦ÉÉMÉÉå Eäò =kÉ®ú Eäò ¤ÉÒSÉ ¨Éå ÊEòºÉÒ +xªÉ |É¶xÉ EòÉ =kÉ®ú
xÉ Ê±ÉJÉåä*

(6) xÉÉ¨É, ®úÉä±É xÉÆ. iÉlÉÉ +xªÉ |ÉÊ´ÉÎ¹]ªÉÉÄ =kÉ®ú {ÉÖÎºiÉEòÉ ¨Éå Eäò´É±É ÊxÉvÉÉÇÊ®úiÉ ºlÉÉxÉ
{É®ú ½þÒ Ê±ÉJÉå iÉlÉÉ <x½å þ =kÉ®ú {É ÖÎºiÉEòÉ +Éè®ú +xÉÖ{É Ú®úEòÉ å {É®ú +xªÉ
Eò½þÓ ¦ÉÒ xÉ Ê±ÉJÉå*

(7) =¨¨ÉÒnù´ÉÉ®ú =kÉ®ú Ê±ÉJÉxÉä Eäò Ê±ÉB Eäò´É±É xÉÒ±ÉÒ +lÉ´ÉÉ EòÉ±ÉÒ ºªÉÉ½þÒ ´ÉÉ±Éä
{ÉäxÉ / ¤ÉÉì±É {ÉÉ<È]õ {ÉäxÉ EòÉ |ÉªÉÉäMÉ Eò®åú*

(8) =kÉ®úÉå EòÉ ¨ÉÚ±ªÉÉÆEòxÉ ´ªÉÉJªÉÉ ¨Éå iÉEÇò, ºÉÆÊIÉ{iÉiÉÉ iÉlÉÉ º{É¹]õiÉÉ Eäò +ÉvÉÉ®ú {É®ú
ÊEòªÉÉ VÉÉBMÉÉ*

(9) +º{É¹]õ Ê±ÉJÉÉ<Ç Eäò Ê±ÉB +ÆEò EòÉ]äõ VÉÉBÆMÉä*

(10) xÉÉìxÉ-|ÉÉäOÉì̈ Éä¤É±É MÉhÉEò (Calculator) ªÉÉ ±ÉÉìMÉ ]äõ¤É±ºÉ EòÉ ={ÉªÉÉäMÉ ÊEòªÉÉ VÉÉ
ºÉEòiÉÉ ½èþ*

(11) +É´É¶ªÉEò ½þÉä iÉÉä +ÊiÉÊ®úCiÉ bä÷]õÉ (Data) ¨ÉÉxÉ ºÉEòiÉä ½èþ / ±ÉäÊEòxÉ, =ºÉEòÉ
º{É¹]õ =±±ÉäJÉ ÊEòªÉÉ VÉÉxÉÉ SÉÉÊ½þªÉä*

+ÆEò

[{É±É]õEò®ú näùÊJÉB*
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2. (+) BEò UôÉä]õÉ EòÉ¨É {ÉÚ®úÉ Eò®úxÉä Eäò Ê±ÉB ±ÉMÉxÉä́ ÉÉ±ÉÒ MÉÊiÉÊ´ÉÊvÉªÉÉÄ +Éè®ú =xÉEòÉ +xÉÖGò¨É
iÉlÉÉ +´ÉÊvÉ ÊxÉ¨xÉÊ±ÉÊJÉiÉ iÉÉÊ±ÉEòÉ ¨Éå ÊnùB ½èþ :-----

MÉÊiÉÊ´ÉvÉÒ A B C  D E F G H J

MÉÊiÉÊ´ÉvÉÒ Eäò {É½þ±Éä . . . . A C, G C, G A B B F

H

 +´ÉÊvÉ 10 10 23 12 14 13 15 17 12

 MÉÊiÉÊ´ÉvÉÒ Eäò ¤ÉÉnù C, F G,H D,E . . . . J D,E E . .

={É®úÉäCiÉ MÉÊiÉÊ´ÉvÉÒªÉÉå Eäò Ê±ÉB BEò º´ÉSUô +ì®úÉä xÉä]õ´ÉEÇò EòÉ +É®äúJÉxÉ Eò®åú *

ªÉ½þ EòÉ¨É {ÉÚ®úÉ Eò®úxÉä Eäò Ê±ÉB näù®ú ºÉä näù®ú iÉEò 50 ºÉ¨ÉªÉ <EòÉ<ªÉÉå ½èþ BäºÉÉ ¨ÉÉxÉEò®
ºÉ¦ÉÒ MÉÊiÉÊ´ÉvÉÒªÉÉå Eäò Ê±ÉB VÉ±nùÒ ¶ÉÖ°ü Eò®úxÉä EòÉ iÉlÉÉ näù®ú ºÉä JÉi¨É Eò®úxÉä EòÉ ºÉ¨ÉªÉ
ÊxÉÎ¶SÉiÉ Eò®äú *ú

xÉä]õ´ÉEÇò ¨Éå ‘ ÊGò]õÒEò±É {ÉÉlÉ ’ ÊnùJÉÉ<ÇªÉä *

(¤É) ºÉiÉ½þ +Éè®ú ¦ÉÚÊ¨ÉMÉiÉ VÉ±É |ÉnÚù¹ÉhÉ Eäò Ê|ÉÎxºÉ{É±É ¸ÉäÊhÉªÉÉå EòÒ ºÉÚSÉÒ ¤ÉxÉÉB *

=xÉ¨ÉåºÉä iÉÒxÉ ¸ÉäÊhÉªÉÉåEòÉ Ê´É´É®úhÉ Eò®åú*

3. (+) OÉì́ ½þÒ]õÒ ¤ÉÉÆvÉ {É®ú ¤ÉÉ½þ®úÒ iÉ®ú¡ò ºÉä ½þÉäxÉä́ ÉÉ±Éä ¦ÉÉ®ú EòÒ ºÉÚSÉÒ nåù *

¤ÉÉÆvÉ Eäò GòÉìºÉ-ºÉäC¶ÉxÉ EòÉ +É®äúJÉxÉ Eò®úEäò ºÉ¦ÉÒ (¡òÉäºÉæºÉ) ¤É±ÉÉå EòÉä ÊnùJÉÉ<ÇªÉä *

(¤É) Ê¨É^õÒºÉÆ¤ÉÆvÉÒ {Éì®úÉ¨ÉÒ]õºÉÇEäò ¤ÉÒSÉ ºÉÆ¤ÉÆvÉÉå Eäò ºÉÚjÉ b÷Ò®úÉ<Ḉ ½þ Eò®äú :----

(1) ´½þÉì<b÷ ®äú¶ÉÉä +Éè®ú {ÉÉä®úÉäÊºÉ]õÒ *

(2) ºÉÚJÉÉ <EòÉ<Ç ´ÉVÉxÉ, lÉÉäEò <EòÉ<Ç ´ÉVÉxÉ +Éè®ú {ÉÉxÉÒ EòÒ ¨ÉÉjÉÉ *

¦ÉÉMÉ 2

4. (+) ºÉÒ¨Éå]õ Eäò ÊEòºÉÒ ¦ÉÒ Uô½þ Ê´ÉÊ¦ÉzÉ |ÉEòÉ®ú EòÒ ºÉÚSÉÒ nåù*

ºÉÆIÉä{É ¨Éå =xÉEäò Ê´ÉÊ¶É¹]õ <ºiÉä̈ ÉÉ±É EòÉ ´ÉhÉÇxÉ Eò®åú*

(¤É) |É¨ÉÖJÉ ÊVÉ±ÉÉ ºÉc÷Eò EòÉ BEò GòÉìºÉ-ºÉäC¶ÉxÉ EòÉ ºEäòSÉ ¤ÉxÉÉB iÉlÉÉ =ºÉ¨Éå ºÉ¦ÉÒ

PÉ]õEò ÊnùJÉÉxÉÉ *

(Eò) EòÉÄGòÒ]õ ºÉc÷Eò ¨Éå <ºiÉä̈ ÉÉ±É ÊEòB VÉÉxÉä́ ÉÉ±Éä Ê´ÉÊ¦ÉzÉ VÉÉäb÷Éå EòÉ ´ÉhÉÇxÉ Eò®åú *

5. (+) {±Éä]õ MÉbÇ÷®ú CªÉÉ ½þÉäiÉÉ ½èþ ?

{±Éä]õ MÉbÇ÷®ú Eäò BEò xÉ¨ÉÖxÉä EòÉ ºEäòSÉ bÅ÷Éì Eò®åú *

{±Éä]õ MÉbÇ÷®ú Eäò PÉ]õEòÉå EòÉ ´ÉhÉÇxÉ Eò®åúäú *

(¤É) ÊxÉ¨ÉÉÇhÉ ¸ÉÊ¨ÉEòÉå Eäò Ê±ÉB ´ªÉÉ´ÉºÉÉÊªÉEò º´ÉÉºlªÉ Eäò JÉiÉ®úÉå ºÉä ¤ÉSÉxÉä Eäò Ê±ÉB VÉÉä

ºÉÉ´ÉvÉÉÊxÉªÉÉÄ =`öÉxÉÒ SÉÉÊ½þB, =xÉEòÉ ´ÉhÉÇxÉ Eò®åú *

6. (+) EèòºÉxºÉ (Cassions) CªÉÉ ½éþ ?

ºÉÆIÉä{É ¨Éå +Éä{ÉxÉ EèòºÉxºÉ +Éè®ú xªÉÚ̈ ÉìÊ]õEò EèòºÉxºÉ EòÉ ´ÉhÉÇxÉ Eò®åú *

(¤É) <¨ÉÉ®úiÉÉå ¨Éå <ºiÉä̈ ÉÉ±É ÊEòB VÉÉxÉä́ ÉÉ±Éä Ê´É¦ÉÒzÉ |ÉEòÉ® Eäò ¡ò¶ÉÇ EòÒ Ê¡òxÉÒË¶ÉMÉEòÒ ºÉÚSÉÒ

nåù *
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=xÉ¨Éå ºÉä ½þ®ú |ÉEòÉ®ú Eäò Ê¡òxÉÒ¶ÉÓMÉ Eäò ±ÉÉ¦ÉÉå EòÉ ´ÉhÉÇxÉ Eò®åú *

<ºÉEäò +±ÉÉ´ÉÉ ÊVÉxÉ {ÉÊ®úÎºlÉiÉÒªÉÉå ¨Éå <xÉEòÉ <ºiÉä̈ ÉÉ±É Eò®úxÉÉ SÉÉÊ½þB, =ºÉEòÒ VÉÉxÉEòÉ®úÒ

nùÒÊVÉB *

¦ÉÉMÉ 3

7. (+ ) 500  500  B¨É.B¨É.EòÒ +É®ú.ºÉÒ.ºÉÒ. (M 25 OÉäb÷) ºiÉÆ¦É EòÒ º´ÉÒEòÉªÉÇ ¦ÉÉ®ú ´É½þxÉ

IÉ¨ÉiÉÉ iÉªÉ Eò®åú *

ºiÉÆ¦É Fe 415 OÉäb÷Eäò  28 B¨É.B¨É. ´ªÉÉºÉ Eäò 8 Uôb÷ iÉlÉÉ 3500 ºC´Éä. B¨É.B¨É. Eäò BEò

‘ Iþ ’ ºÉäC¶ÉxÉºÉä |É¤ÉÊ±ÉiÉ ÊEòªÉÉ ½Öþ+É ½èþ *

EòÉÄ|Éä¶ÉxÉ ¨Éä +xÉÖ̈ ÉiÉ iÉxÉÉ´É <ºÉ iÉ®ú½þ ºÉä ½èþ,-----

EòÉÄGòÒ]õ =  6 N/Sq mm.

|É¤ÉÊ±ÉiÉ Uôb÷õ  =  190 N/Sq mm.

vÉÉiÉÚ EòÉä+®ú÷õ =  125 N/Sq mm.

(¤É) BEò ´ÉxÉ-´Éä º±Éè¤É EòÉ º{ÉìxÉ 4 Meter ½è þ iÉlÉÉ =ºÉEäò ºÉ½þÉ®äú EòÒ SÉÉèc÷É<Ç 230 mm ½é þ *

º±Éè¤É{Éä 4 kN/Sq m. ±ÉÉ<Ḉ ½þ ¦ÉÉ®ú +Éè®ú 1 kN/Sq m.¡ò¶ÉÇ ¡òÒÊxÉ¶ÉEòÉ ¦ÉÉ®ú ½éþ *

M 20 OÉäb÷ EòÉÄGòÒ]õ iÉlÉÉ Fe 415 OÉäb÷ EòÒ Ê®ú<xÉ¡òÉäºÉÇ̈ Éå]õ EòÉ <ºiÉä̈ ÉÉ±É Eò®åú * º±Éè¤É

EòÒ MÉ½þ®úÉ<Ç iÉlÉÉ Ê®<xÉ¡òÉäºÉÇ̈ Éå]õ ÊxÉÎ¶SÉiÉ Eò®åú *

(Eò) Ê®<xÉ¡òÉäºÉÕMÉ ¤ÉÉ®ú EòÒ Ê´ÉEòÉºÉ ±ÉÆ¤ÉÉ<Ç (Development Length) CªÉÉ ½þÉäiÉÒ ½èþ ?

<ºÉä EèòºÉä ÊxÉvÉÉÇÊ®úiÉ ÊEòªÉÉ VÉÉiÉÉ ½èþ ?

¤ÉÉ®ú Eäò +ÆiÉ ¨Éå BEò iÉÖ±ÉÉ ªÉÉ BEò ½ÖþEò Eäò MÉ`öxÉ ºÉä CªÉÉ ±ÉÉ¦É Ê¨É±ÉiÉÉ ½èþ ?

8. (+) 3 ¨ÉÒ. º{ÉìxÉ´ÉÉ±Éä BEò EÄòÊ]õÊ±É´½þ®ú ¤ÉÒ¨É {Éä º´ÉiÉÆjÉ +ÆiÉ ¨Éå ¶ÉÚxªÉ ºÉä ±ÉäEò®ú ÊxÉÎ¶SÉiÉ

+ÆiÉiÉEò iÉEò 90 kN/m iÉEò EòÉ ºÉ¨ÉÉxÉ ¯û{ÉºÉä ¤Énù±ÉiÉÉ ½Öþ+É ¦ÉÉ® (Uniformly

varying load) ú ½èþ * ¤ÉÒ¨É ¨Éå +ÊvÉEòiÉ¨É EòiÉÇ®úÒ ¤É±É (SF) ´É |É¦ÉÉ´ÉÒ PÉÚhÉÉÇ (BM)

ÊxÉEòÉ±Éä *

PÉÚhÉÉÇ +Éè®ú EòiÉÇ®úÒ ¤É±É Eäò ºEäòSÉ ¤ÉxÉÉªÉä *

(¤É) |É¦ÉÉ´É ®äúJÉÉ (Influence line) CªÉÉ ½éþ ?

(Eò) ABC  ¤ÉÒ¨É A iÉlÉÉ B EòÒ VÉMÉ½þ {Éä (Simply supported) ºÉÉnùÉ ºÉ½þÉ®úÉ ÊnùªÉÉ

½Öþ+É ½èþ * AB º{ÉìxÉ 10 ¨ÉÒ. +Éè®ú º{ÉìxÉ BC 5 ¨ÉÒ. ½èþ *

A iÉlÉÉ B EòÒ Ê®ú+ìC¶ÉxÉ Eäò Ê±ÉB |É¦ÉÉ´É ®äúJÉÉ ¤ÉxÉÉ+ä *

-------------------------------
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4Con 1801

Instructions.— (1) Answer any two questions from Section I, any two questions

from Section II and any one question from Section III.

(2) All questions carry equal marks.

(3) Answers must be written either in English or in Hindi.

However, all the questions should be answered in one

language only. Answer-books written partly in English and

partly in Hindi will not be evaluated.

(4) Each question should be answered on new page and the

question number must be written on the top in left margin.

(5)  The answers of parts of the same question, if any, should

be   written together. In other words, the answer of another

questions should not be written in-between the parts of a

question.

(6) The Name, Roll No. and other entries should be written in

the answer-scripts at the specified places only and these

should not be written anywhere-else in the answer-script

and supplements.

(7) Candidate should use only Blue or Black ink pen/ball point

pen to write the answers.

(8)  Answers will be evaluated on the basis of logic, brevity and

clarity in exposition.

(9) Marks will be deducted for illegible hand-writing.

(10) Use of non-programmable electronic calculator/log table is

permitted.

(11) Assume any additional data, if deemed necessary and state

the assumptions clearly.

SECTION-I

1. (a) What is a contract ?

State general provisions made in contract documents for payments

to be made to contractor to take care of increased costs due to increase

in prices of materials and wages of labour after receipt of work

order.

(b) State the reasons for loss of head in pipe flow.

State the formulae which can be used to compute the loss of head

due to each of them.

Marks
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5Con 1801

2. (a) Consider the set of activities to be performed for completion of
a small job. The sequence of activities and their durations are
indicated in the following table :––

 Activity A B C  D E F G H J

Predecessors . . . . A C,G C,G,H A B B F

 Duration 10 10 23 12 14  13 15 17 12

 Successors C,F G,H D,E . . . . J D,E E . .

Draw a neat diagram showing activity on arrow network for the above
activities.

Assume late completion time for the project is 50 time units.
Calculate and tabulate early start times and late finish times for all

activities.
Indicate critical path in the network.
(b) List principal categories of surface and ground water pollutants.

Describe briefly any three of them.

3. (a) List external forces acting on a gravity dam section.
Also draw a cross-section of dam and show all the forces.

(b) Derive relations between soil parameters :––
(i) Void ratio and porosity.
(ii) Dry unit weight, bulk unit weight and water content.

SECTION II

4. (a) List any six different types of cement.
Briefly state their specific application.

(b) Draw a cross-section of major district road and show all its components.
(c) Describe various joints that need to be provided in concrete pavements.

5. (a) What is a plate girder ?
Draw a sketch showing typical plate girder.
Describe components of a plate girder in its general form.

(b) Describe precautions need to be taken to avoid occupational health
hazards for construction workers.

6. (a) What are caissons ?
Describe briefly pneumatic caisson and open caisson.

(b) State various types of floor finishes that can be used in buildings.
 Describe advantages of each of them.
 Also state in which conditions you would suggest their use.

SECTION III

7. (a) Determine allowable load carrying capacity of a composite RCC (M25
grade) column of size 500  500 mm. reinforced with 8 no. of 28 dia.
reinforcing bars of grade Fe 415 and a steel ‘ I ’ section of cross-
sectional area of 3500 sqmm.

Permissible stress in concrete in direct compression = 6 N per sqmm.
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Permissible compressive stress in reinforcing bars = 190 N per sqmm.

Permissible stress in metal core = 125 N per sqmm.
(b) A simply supported one-way slab is having clear span of 4 m. with

width of supports being 230 mm.
Consider a live load of 4 kN per sqm. and a surface finish of 1 kN sqm.
Consider concrete grade of M20 and steel of grade Fe 415.
Calculate thickness of slab and main reinforcement.

(c) What is development length of reinforcing bar ?
How is it determined ?
What is the advantage of forming a bent or a hook at the end of

reinforcing bar ?
8. (a) A cantilever beam with a span of 3 m. carries a uniformly varying

load from zero at free end to 90 kN per m fixed end.
Calculate maximum shear force and maximum bending moment in the

beam.
Also draw shear force diagram and bending moment diagram.

(b) What is influence line ?
(c) A beam ABC is simply supported at A and B. Span AB is 10 m. and

span BC is 5 m.
Construct an influence line for reaction at A and reaction at B.
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